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QUESTION 1

Given the display of the CITIES data set:

Which program creates the PROC PRINT report below?

A. proc print data=cities showlabelse; label Name= \\' Employee Name City =Birth City

B. proc print data-cities label noobs; label Name=\'Employee Name\\' City=\\' Birth City\\' ; run;

C. proc print data=cities ; Name=\\' Employee Name\\' ; City=\\'Birth City\\'; run;

D. options noobs labels; proc print data=cities; display Name=\\" Employee Name* city=\\'Birth City\\', run;

Correct Answer: C

QUESTION 2

Given the input data set WORK.RUN:

Given the following DATA step:
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What is the correct output data set WORK.RUN2?
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 3

When the following code is submitted, execution fails.

Why does the execution fail?

A. Multiple executable statements are not allowed in the DO block.
B. The OUTPUT statement is not allowed in the DO block.

C. There are two unclosed DO block.

D. The conditional logic expressions fail for the DO block

Correct Answer: A

QUESTION 4

Given the input data sets EMPLOYEES and DONATIONS, and the output data set NODONATIONS below:
EMPLOYERS
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DONATIONS

NODONATIONS

A. data nodonations; merge employees (in-inE) donations (in=inD); by employee_id; if inE=0 and inD-0; run;

B. data nodonations; merge employees (in-inE) donations (in=inD); by employee_id; run;

C. data nodonations; merge employees (in-inE) donations (in=inD); by employee_id; if inE=1 and inD-0;
run;

D. data nodonations; merge employees (in-inE) donations (in=inD); by employee_id; if inE=1 and inD-1; run;

Correct Answer: D
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QUESTION 5

Which statement is true regarding the SET statement?

A. The SET statement specifies an input data set in the DATA step.

B. The SET statement specifies an output data set in the PROC SORT step.
C. The SET statement specifies an input data sot in the PROC SORT step
D. The SET statement specifies an output data 5et in the DAI A step.

Correct Answer: C
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